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& 5 15, 694 78, 470
EEFNUAT 7 B NHTD-70 (/i 1 4:7%)
& 5 13, 384 66, 920
R ATESE LE AR S
H 6 60, 630 363, 780
TH [ IR B R R ERE - M T A R
B % D)
= 1 19, 650
HETV 7 B FHF-32/45 HfE&TE
& 5 3,930 19, 650
T BRI RE L (R EAR)
= 1 79, 625
L TE AR U HF-250/NH-220
& 5 15, 925 79, 625
B
= 1 335, 688
b sy
535 24 8,935 214, 440
1R TR 3 RS B ) R 2y
535 16 7,578 121, 248
B TR
= 1 81, 873, 972
B SElTE:
= 1 8, 636, 804
B3 TS
= 1 1, 059, 166
TR
= 1 169, 288
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TZ (B ESM
R R R
= 1 156, 460
SRR RT
= 1 6, 396 6, 396
HEKE T ARl
= 1 6, 432 6, 432
et By
= 1 56, 579
B R FEART e
= 1 56, 579
BIGmEsET (K30
= 1 833, 299
HIBGERE (FE L)
= 1 7,577, 638
Wi
= 1 90, 510, 776
B
= 1 37, 205, 962
TG
= 1 127,716, 738
— R
= 1 21, 103, 262
TS
= 1 148, 820, 000
THEBLFH Y %H
= 1 14, 882, 000
TH#&G
= 1 163, 702, 000
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